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@ No. 1 - 2) : Read the
Din?ct_"o"s information ~and solve  the

- oing t
follo™ o ced on it. .
uosnoﬂ;ll’a an intelligent baby girl, plucks

Ghakun 1 her ‘father’'s orchard on ten
apples dve days. When asked by her

conseUT " how many apples has she I 8r & 13 yedt I fa BH 3 Haﬁ%n
\ mother i;om the orchard daily, she gives feg I fdd Ay 33 3 gg s W3
- Elllicéuowiﬂg sheet to her mother :
“ W=

Sum of the apples for the
given three days
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Five days taken at a time ) . ©
fea v B 49 fes
1.

What is the number of apples plucked

onday6? . 1. 2 fes P AT o fo=t A I 2
(a) 45 (@) 45 |
S 35 b 35

© 2 © 25

@) Cannot, be determined

(d) ﬁs'ﬂfe's' SIT AIT AT AR
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Foyp how Moy quyg
dutm‘minu the uxn;‘tu‘ oy blo "
Plucked by "

\ Numbay of nppl
=) o N“\\\\mt-nln ? Pplon
(OIS

© 3

(d) None of t)
‘ ’ ‘ e aboyg
trectiong \ .
table. qona gIQ No. g _ 6) : The following
‘ L8 the capeep record in One
ntvrnanonal Crick pomen, %

et of few batsmen
Nan . T
ame I\{l):l\t.chos lnmngs Runs Avorage
Played Pluyud Scored
N P1
O N | 50 48 | 1800 | 404
- ’\ ‘
¢ \ P2 50+ 5. 2084 | 459
vV LR | 46 46 | 1679 | g5
J?i.;.\i‘l.;*_ﬂfttx' 1539 | 405
Pir\iq_m 38 | 1806 | p1.g
y P6 42 | 4o 1445 | 425
s E;l:elaverage 18 calculated by dividing the
o a runs scored by the total number of
7*¢ matches in which the batsman got out.
8. Who among the following did not got
gou out for the maximum number of
w® > times ?
a  Jd) Pl
KN S
(¢) P5
(d) P6
» / | :
Wt 4. If the average is calculated on the
W - basis of the total innings played,
w.® whose average will see the minimum
> change ?
W\ , (a P1
) (b) P3
() P5
(d) P6
5. How many of the batsmen got out in
= all the innings played ?
(a) O
(b) 1
() 2 ineg
() Cannot be determined
Paper |l
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g, (o foat &, nefam g g3 AAt &
"l ot 8 s

(n) 0
(h) b
(¢) 9

() Qad fed et ey i a7
erfirgt (YHE B0 8 - 5) ¢ fuE 2
st @ o IAT nisaaed] fgee AT

& fgarras I |

P1 50 48 | 1800 | 40-0

P2 | 50 | 50 | 2034 | 452 |

P3_| 46 | 46 | 1679 | 365

P4 | 44 44 | 1539 | 405

P65 | 40 38 | 1806 | 516

P6 | 42 40 | 1445 | 425
Y3 (average) & S¥FH wnrar I® It o
fordt i3 g o fifat few e mige 3
fami™ 92 & 5 5 oo wr Y |

8. fors o9 faamm 3 & Nty Fg 3
Q) T 82 &4t Ifemr 9
(a) P1
(b) P2
() P5
(d) Pe
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Percentage wise disteibyati r
{ the *ntage : distribution of Jand
3 — Africa A4 Beographicg] regions under forest, cover

Population da.. .. UTope, . : Al - Asia, China, India, A2 - Australiz

P N density = (pe,. 18518, A6 — North & South America, A7 - Antarct; D
orest COVer) Centage Population £ Animal r ’ ntarctica,

8.  Which - of Animals) / (Percentage [and Area Under

9.

K%mkisned highefépopulation density 7
) / A], A4 (d) A,’f.’ Aﬁ
n of wild animals in Antarctica will increase by

fwild a . e rest of th o
nimals in Antarctica after 10 ;ev;:;]r()l’ what will be the percentage population

9) : Bz £r \(c 15'7’%{ . (d)’ Cannot be d i
%?amg‘)@aﬁmféys’nﬂuffa?méa??él?:d

11% 20%

ﬂa@ﬂmﬂﬂxﬁ&nﬁé}@mw;gﬁ
ﬁsmga'rﬁwaaaa?;:m-%r,ﬁw, s, m,M-Wmmmamm:ﬂnmﬂmwé‘
A5 —FH, A6 - B3 13 S mrdtar. A7 m“}“*@u.

8. foo3 @ t3qt &t fw of He 3 2 20 B
(a) Al, A3 (b) A4, Ab (c) A1, A4 d) A3

9. FT Wacgafzer feg Hawt Aeedt fog 1OWﬁg’Aﬁ6"ﬂ
&% 2:5% 0 Fr Jer 3 3t e 7eest @ wem 10wt g ! ot
AGHfit yFzr faat deaft ¢ eI fear fog
(a) 95% (b) 10-5% (¢) 157% @ fonfas st drr o

Paper | (D-5)

Telegram: https://t.me/siddhipunjab01
You tube: https://youtube.com/@siddhipunjab




Pveetionn (), Ny, 11/]

/
ot I s 1y o Vi Bhismiin b,

I inumty

Target Punjab with
Siddhi Punjab

/ey, ) .
nofkes! (s £ 1h 11) - 7oz o s
W 40 2y farsgfoner srr
/} /'
/ ¢ e
{1) Y -
“
' / ' ; /’/
{/"l ,/fl/ /
7 e
p /',/ 2
1y
/‘/
Il / i’ ~
Wi I’N‘/h ( l"““” f
y » ,
u i Wy and ¥ridny) nre lut, Y111 y
AMPAEINY before 1 10100 Wit Gp o ey s
Whe oy nding o Ghtion, nid TG T B % e e
1 i ity , 7 s s T T T
reuesty  fy PN Vs sty I 2 mmE e e
ests from  fiye, polition , Bty ¥ i . -
iaking oul thef Men)  partics  foy G G A A
/ " " " ¢ 7 lo y >3 - —
1 / Mgy prl,ul,;«,;,,,/”m hl//n;/ the 787/ / Ly YT ke S G .
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24545 12014 / VA Vi d
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'4 L TA AT A. (! f) 7 / /) Aoy i
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Wl Al ¥, ¥ o 2 % o
) 7 2 ), £ *u =7
M AL, P T
P b0, dea )
‘ .~ ]
LCPM AC1) PRI . BCE
> . g
Hirost, 15-1) ¢ , Saronn 2D
‘ ‘/"“”’I', ')‘7 “;4,(-/’ 1,,,, % ‘/llif,i‘;hl 1 r )
procession on Thurgday ¢ W) FAmZ 7 Fmmee o ~
Wi 6 Y 5 reliyic Ve @ ST § g === ==
procession, The digtrio e 'IIV,I I FE Ty = P < ar T a5
” ' ’ shrict, ;””””“:"’/r”t/l“h hh;‘, ’ v B w7 = = == =
n o policy of ¢ , 73 O Z . T O £ = o -
| ;/ o not, allowing more than one 777 T SRR s x5 = o=
Woe oy SEape e z - e _ - -
:l HEION 140 piasiss hl(mg the Bams sirest on '.’_‘f' Zd Rz == = = -,,—{3., _—
e ’ > p ‘¢ . = - -~ . -
16 #ame day, However, the sdministration | ©7 5t 3 =T T - — - -
must, allow all rti , E Y LIRS TE ForE
/ parties to take out their wadns # &5 = e o - N
O . t T R e =S S EF S== =
procession during these two days, P <z . =5 3= =
‘ | ATGIAT =F gadal I
\‘ =
' : | f - < = . o
10, Congrens procession can be allowed ; 10, FF=EF R L TER I T ot T =
(1) only on Thurgday. . ’
, (a) d=7 :-_’ g ::
(b) only on Friday., N -
) (b) =% Fa===3=
(¢) on either day. L =
(¢ fam & ==
(d) only if the religious procession is ) i - - :
d=2% ¥d< TarA3 =88 =< o=
cancelled, ) 3 ’ mETEm OsE ew
Jd |
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11, Which of the following is not true ?

(@) Congress and SP can take out

their processions on the same
day.

() The CPM procession cannot be
allowed on Thursday.

(©) The BJP procession can ohly take
- place on Friday.

(d) Congress and BSP can take out

their processions on the same |

day.

12. Which of the following sentences is

correct ?

(@) Its finally a holiday, and my dog
is happily wagging its tail.

*(b) Its finally a holiday, and my dog

is happily wagging it’s tail.

() Its finally a holiday, and my dog

is happily wagging its tail.

RG]

is happily wagging it’s tail.

3. When I met her laét week,

she seemeq
to be the weather.,

(a) over
(b) under
(¢) against

(d) None of the above

It’s finally a holiday; and my dog‘

Target Punjab with
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12. Which of the following sentences 1S

correct ?
(a) Its finally a holiday, and my dog
' is happily wagging its tail.
~(b) Its finally a holiday, and my dog
1s happily wagging it’s tail.
(¢) It’s finally a holiday, and my dog
1s happily wagging its tail.

d) Its finally a holiday, ang my dog

is happily wagging it’s taj]

eek, she seemed
—__the Weather.

(@) over
(b) under

against

Paper ||

(d) None of the abovye
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14 In a meeting Ryiiy :
sentences wit} .J_ A alwayg beging her
" may be wrong, but.,’
or, ILXcuse my :ﬁ:...@. y .
What style of 8::.::_‘. _E.Ecc.. _::.M.. 3
following ? hication i Rajita
(a)  Assertive
v .
(b) W%mmmé mmmamm?c or ,
anpulatiye
(¢) Passive
(d) None of the above
16.  Before any Negotiation, Ramesh first
Wme the client m:woaBm:w, chatted with
wﬂ M_Ew ___ms:& attentively to all hig
P H 8. Unly When he gathered all the
relevant information, diq he push for a
negotiation. Ramegh was a
(2)  Win-lose negotiator
(b) Win-win negotiator
(¢) Lose-win negotiator
(d) None of the ahove
16. Gita listened to the views of others
wum. then analysed them according to
their merit. Her listening style was
(a) Judging
(b) Evaluative ‘
(c) Active
(d) None of the ahove
17.  Suppose you have a 12-hour digital
clock where the number representing
the hour is always the same as the
number representing the minute. That
is, the clock can only show times like
8:08, 9:09, 10:10, etc. What is the
smallest time difference between two
such times ?
(a) 101 minutes
(b) 61 minutes
(c) 60 minutes
(d) 49 minutes
Paper ||
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15.

16.

17.

8)

Witéar few aftgr wnsz 2at 4 ot
fen 3t yg aedt 3 awz T HoR
o ug. w7 ud wdEIT oW
I, g, Frtar Harg o faaet Aot
& @ g

(a) wmwm.‘wamm (Assertive)

() Uz wardfie 7 ehuafes

c) Ufpz

(d) 8oz feg It at

d5-ait 33 3 fug 4 fimer Ht, €A
&% d%E3 ggwr w3 GF € A9
safantt § didtazr o geer | 72 €9
A3t 3% gewr fedzg a9 B, B9
ST ¥ Zuer | gRE

(a) 73077 fagufog

-

(b) #3-13 feIufom

(c) T9-73 feosfog

d) €a3 feg agt aat

€5 & ot © nrurg 3 femdmEE aoet |
€r < rEs-AEt

(a) fog=fes

(b) Hefaz

(c) Wafez

(d) Ba3 feg ozt adt

W 2 fa 303 o 12~ feHtes
vier 3 firr feg frgar vie Wiz § emer
J, &t viz oimt fife § eRer 3 1 BR
T % § fa uer £ Rt TR Haer
J 8:08, 9:09, 10:10 =d | few yarg
T € Aiinf feg nusy A T nisg
ot 3 7

(a) 101 fife
(b) 61 fife
) 60 firg
d 49 fie

'I
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19.

" «“Most odd indeed!” Which option about

Read these six conditional claims -

1. Ifit's an apple, then it's a fruit. .

If it's a fruit, then it's an apple.
It's an apple if it's a fruit,
It's a fruit if it's an apple.

It's not a fruit if it's not an apple.

ZEE U

It's not an apple if it's not a fruit.

Qut of these six conditional claims
which three claims have the answer as

Yes ?

(a) 2,3,5
(b) 2,3,4
() 3,4,5
(d 1,4,6

Hina Yellow, Jhanvi Red and Leena
Gray each have a gray handbag, a
yellow handbag and a red handbag,
but none of them has a handbag colour
that matches their name. They met
unexpectedly one day. The lady with
the red handbag commented, “How
odd!” to which Leena Gray replied:

19.

the lady name ‘and colour of the
handbag is correct ?

(a) Leena Gray — red colour handbag,
| Hina Yellow —. .gray  colour
- handbag ;.
Leena Gray — red colour-handbag,
~ Jhanvi Red — gray colour
handbag ‘
Hina Yellow

colour handbag

(b)

red colour
Red-yellow

(c)

colour
red

Leena Gray yellow
handbag, Hina Yellow
colour handbag

(d)

(D-9)
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ol
6 feg 7 & 3, @ feg B OO

'(a)Wﬂﬁfi.l"’”_%aﬂav%f—araanZﬂET

 BF — 3of Far IS

b #er P - I dor IsEA,
TasSt 3% — Ipf Jar IBFA
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3% - OF Jar TzTa

(d) mm—aﬁwm,ﬁw
&% — 3% Sar I3FA
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Read the

carefully

information
the

following
and then
question given below.

answer

1. AAB means A is mother of B.
2. A@B means A is sister of B.
3. A*B means A is father of B.
4. A#B means A is brother of B.

Which of the following means R is
uncle of T ?

(a) R*P#SAQ@T
(b) S*P#R*U#T
(¢) P*R#Q@S*T
(d P*R@Q@S*T

Warangal Warriors, Thapar Thunders,
Rohtak Rockers and Vellore Vikings
are four Kabbadi Teams who compete
against each other so that there are
six matches in order to decide the
champion.

1. “Vellore Vikings” is beaten by
“Warangal Warriors”.

2. “Thapar Thunders” beat “Vellore
Vikings”.
3. “Warangal Warriors” and

“Rohtak Rockers” beat “Thapar
Thunders”.

4. “Rohtak beats
“Warangal Warriors” and “Vellore
Vikings”.

Rockers”

Who emerges as the champion ?
(a) Warangal Warriors

(h) Thapar Thunders

(¢) Rohtak Rockers

(d) Vellore Vikings

Target Punjab with
Siddhi Punjab
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ymst ® @49 fef |
1. AAB @ nwaE d A, B & HIT T |

9. A@BE nTE YA BT 3T T |
3. ABE n@E A BEfF I
4, A#BTw@EIA BT FIJ |

forns fed' fam & @@ R, T & WS
J, e Y Y

(a) R*P#SAQ@T

(b) S*PH#R*U#T

(c) P*R#Q@S*T

(d) P*R@Q@S*T

gt 75 1 2 WT fem 73 © 3Fw &9%

sEt fea o fedu yStoen 75 |
TIfEMEr” 3 e |

2. ‘Eug  EIewS ¥ Wa
Trfefdam” § garfenr |

W & m g g
garfemr |

4, ‘Yoz da9w” ¥ ‘T
& gafemrr |

aF A3 ¥F F §fonr ¢
TS Trafenraw

(b) EYT HIFIW

(c) ‘?maaﬁaaﬂ

(d) WY efefalam
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22. The afternoon classes in a school begin | 22, AE® 9, we Ty et o

2:00 ¥ efiwy we gy Jobat as ni3
4:62 3 TRO9 we y3r Jeéat o6 |
ae gfiow vw i o w3 w9
in each class Utdhors feg grvg fitet o e N | 79

at 2:.00 P.M. ang end at 4:52 p.M.
There are four afternoon class periods

with 4 minuteg between periods, The
number of minutes

period is o Udhs 33 fite o D
(a) 39 () 39
(b) 40 (b) 40
© 36 (¢) 36
@ 45 Al

23. Ata party there are 3 large pizzas

of | 28. Ut fow fed wparg

q 1 . ] E). .

=T 8
L —
has been eaten: gc’of the second pj 2
2N second pizza fomr YT fenr fam %; THY U 2
has been eaten: i of the third pi ':
| ¥ pizza %WW'WW%B‘\H‘E} L
: Wy o 1
has been t i ' . ’
eaten. What fraction of the famr YT fanr fam ) W
3 pizzas is left ? ﬁ?jffd‘ﬂTH?eTﬁ o "
. '{
2
(a) = ‘
9 (@ 2 W
2 ’ -
b) = 2 ER
: (b) = 1
1
() =
3 (c) %
1
d) =
: () %
Paper ||
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Paper I

The ‘
Animt}:;‘tl‘{oi Volumes of Encyclopedia ot.
with no g t@dom sit in grder on a shelt
upright ) D:\ ¢e between the volumes, all
visible ‘1(:&0 thu.t their spines are
Each s 38 to right : 1, I and !ll.
24 mm\of 0 mm - thick, comprisu‘\g
each coy ‘totn] pages and 8 mm for
page 1 \?ll' A bookworm bores I‘mm‘
volume 1 olume 1, to the last page of
¢ IIL How far does it travel ?

@ 90 mm

(b)
(c)
(d)

36 mm
72 mm
84 mm

According to g survey at a company,

( ~

20 percent of the employees owned cell
phones in 1994, and 60 percent of the
employees owned coll phones in 1998.

From 1994 to 1998, what was the

percent increase in the fraction of

employeces who owned cell phones ?
() 8%

(b)  20%

() 30%

(d)  200%

From 2018 to 2019, Mohan's annual
salary increased by 10 percent and
Arun’s annual salary decreased by
b percent. If their annual salarvies
were equal in 2019, then Arun's
annual salary in 2018 was what
percent greater than Mohan's annual
salary in 2018 ?

(0) 1691
(b) 13:34
(¢) 15678
(d) 1098

(D-12)
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U& . ﬂ o ii ' l
N ANy ; i “l‘l& m us ))F:\' Jad
‘ sy few 24 0 .
30 mm, f‘ o e ﬁ’r{ wﬁ
wE © 3 mm } ° 9 | :ﬁw\ﬁ ﬁ)‘.
A : 5 gt 1 3 |
@. ))Nﬁ ljﬁ ga‘ E‘t‘ C !
it g =t Y
(@ 90 mm

(b) 36 mm
(¢) 72mm
(d) 84 mm

U fea Aot ¥ NGHT, 1994 IN3)
20% T VTS R AS e
1008 feg dudt ¥ 60% waHETE AN
I R s 11994 T 1998 3N ASIS

Rr o®  wododmt W@ SRR
(raction) feg R yfsms o
Jfemr ¢
n) 3%
(b)  20%
©)  30%
(d) 2009

2018 ' 2019 3IX, Hos & Ave
ST R 10% o G wR niga
& A /T 6% W | A" 2019
few @t it Wt It warwg s
3t 2018 W niEE @ swmug dow @

2018 & sEuT & ) i oy
A 2 ‘

(@) 1601
(b)  13-84
() 15678
(d) 1098
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27. A candidate scores 20
45 marks ang another

% and fails by | g7 e @Hteerg 20% Wiw aHG FIE I

scores 45% 1y candidate who M3 45 M uie 9 I96 2B I 7 J
than the oS €t 30 marks more w3 fea 39 Bvieerg 7 459 i THS
the exa animum required to pass saE 3, Yo um gs @ ule ulg
mark _oation. Find the maximum riat 3 wo iz 0} e T | Ut
marks for the examination. 5 o7 ]
(a) 100 <g viﬂ. MGE_@- |
9 b b 200
(©) 400 (c) 400
(@300 @ 300
o TERET (YRS 3- 28 - 29) : AT o5 =t
Directions (Q. No. 25 _ 59 . FOsT 3 DnewlEsy @ st fomt F

Based on th r t
ot ] “| 6 mUT & 2015 Ry mzer @ swp 3
INes trips to 6 cities from New Delhi in : ¥R f ot
Distances from :
New Delhi by Air
2,000 . m.oco

1 .mooH_

1,600+

Distance in Kilometers

fagHlea 9 e ns™

E 20T o2 % s
RmPPmm
¥y =

Number of Plane Trips from N
lew Delhi
Ranchi, Kolkata, Panaiji, Pune, Xm<m_,w=” Z..M”:wq

Number of trips per month

T -
TFEMAM U U As 0N D

Months of year 2015
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29.
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' (a) New Delhi-Kolkata (to and fro)

Due to some reason planey only made
these  trips

before  or after  the

January-March period,

The month of May offers the best,
weather conditions,

2.
The easterly winds run at 2 km/hour
cast to west all year.

Planes on trips to Ranchi and Kolkata
must push against the easterly windsg,
Planes on trips to Panaji, Pune and
Kavaratti are carried along by the
easterly winds.

Planes on trips to Munnar cross the

current and 8o experience no counter
or favourable effect.

How far is it from Ranchi to Munnar ?
(a) 3000 km

(b) 2000 km
(¢) 800 km

(d) Cannot be determined

Taking account of the distances and
the winds, if a plane were to fly from
New Delhi to Kolkata (to and fro) and
another one from New Delhi to Pune
(to and fro) at a constant speed, which

trip would you expect to be completed
quicker ? (No stoppage)

(b) Both trips would take the same
amount of time

(¢) New Delhi-Puhe (to and fro)

(d) Cannot be determined

(D-14)

28.

29.

IS S wew S v e 3 Y o

(@) 3000 faditeg

() 2000 fa@reg

(© 800 faFtes

@) forfes & iz 77 A

(MBz-7z) »3 fex J9 wow w=t
T T s r@z-we) &5 3 =
faodt oz 3 TR U e &
e Tme T 7 (fast 33)

(a)

&= fEd-amazT (ni@e-mrs)
(b)

(0 B EH-ud @z-wm)
(d) farfos adt A3 7 Fxer
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Directions (Q. No. 30
defined a3 being the mass
divided by the zquare
metres). The data about
given in the table below.

Person  Height!
1-45
1-50

1-55

1-7¢

muow:l’

1-8(

Based on this data =
below :

30. Which of the
greatest BMI ?
(a) A
) B
@ C
@ D

31. If an adolesce
10% and his
much will hig

(@ Plus 119

(®)  Plus 10¢

(©)  Minus ¢
(@ Minys
Paper |}

You tube: https://youtube.com/@siddhipunjab



Directions (Q. No. 30 - 31) : BMI is
defined as being the mass of a person (in kg)
divided by the square of the height (in
metres). The data about 5 persons has been
given in the table below.

Height (m) ’ Weight (kg)

Person
A 145 | 45
B 150 | 50
c | 18 | 56
p | 170 |
| B | 180 |
Based on this data answer the questions
below :
30. Which of the following has the
greatest BMI ?
(a) A
(b) B
c) C
(d D
s by

If an adolescent’s height increase
10% and his mass by 10%, by how
much will his BMI change ?

31.

(a) Plus 11%
(b) Plus 10%
(¢) Minus 9%

(d) Minus 10%

Target Punjab with

geFT" (YAS # 30-31) - gﬂswuw Z
?W(Wﬁ?} m?ﬂ?/gg’??,ﬁ

.
| ofes) | (BT

()
i
A L |5
| 145
50
| 50

55
e

60
G

D

(a) A
(b) B
(e C
(d D

31. a9 fex feaAHi® foniast e de 3
g5 9 10% <oer J 3 B8R T
t phinret, feg o ufgeass nirear ?

(a) UBA 11%
(b) UBH 10%

() HTEISH 9%
(d) HTEISH 10%

(D-15)
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Directions ( Q. No.

diagram 8tven below
A_n automc-xbi!e fompany hag advertised for the appointment of trainee engineers in
different disciplines, First the applications Teceived are thoroughly Scrutinized and good
ones are called to the main centre of t

written testg are o

he company for ty, written testg
f2 hrs duration each,
The first Written t

est E1
test E, checks the basic
appear in both |
for final selectio

2-33). Answer the following Questions based oy, the information, and

and a viva. The
checks the general Scientific background and the second wﬁtten
S of the discipline. Earlier g the candidateg were required to
1 and E, but only thege who c]

ear both were allowed to appear in the vivg
n. |
To minimize the co

st, the company has decided tq change the Procedure. Now they want to
conduct thig exam i

to sit in either written test (E,orE
ge in which Company may take his
d stage, he will go for the rem

he/she will go for next sta
written test or Viva

o) and if
- If he passes in this secon
third stage. ‘

/her other
aining exam in

and viva for fina] selection, A candidate ig rejected
y stage. The €xpenses are ¥ 50( per candidate for conducting each of |
E, or Viva (V). The following historiea] data for 100 candidates ig availab]
selections.

Out of 60 Candidates
(Who Cleared E; Test)

Cleared E
but failed

After
First
Stage _
Out of 70 Candidates \
(Who Cleared E; Test) ‘
Cleared E Qleared Vivaj
but failed qiled in E,

-16
Paper Il ‘D !
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< based on the information and

nent of trainee engineers in
roughly scrutinized ang good

sritten tests and a vivg. The

»und and the second WTritten
=ndidates were required to

llowed to appear in the vivg
-ocedure. Now they want to

itten test (E; or E,) and if
ny may take his/her other

‘or the remaining exam in

n. A candidate is rejected
or conducting each of E;,
- available from previous

t of 60 Candidates
ho Cleared E, Test)

W&aﬁmmg@%m,
MISS 72T 69 89 ritvert § B, 7 b, fed it fow it o few Bow < e
Wmmﬁﬁw@ammaﬁ#ﬁ%?mn@wﬁmféym@ﬁﬁw
fEust uStimr 7t ffie udthonr (vive) B Feet 3 | A5 89 TAdt Aew § uH a9 BT ¥
57 €T Frelt SfSet udtimr wet Shdt mew frg arEar | ] )
%§W%M@%MW@%W(ﬁva)wmu€aﬁl
ﬁnémﬁa%&ﬁw%@ﬂma’yﬁwé I Eq, E, 3 HAftr ydtfimnr (viva)
era%ﬁawwqéf@ﬂmmogu@m% | foHs ygedh AdaRs ©T
100 SHte=Tgt = fefsgmAa nias Queag o | :
Ufsat nrewEr feg wnftoe T 39 100 Gfteers e
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§M§@hﬁ%%@fﬁ-ﬁ3ﬁ?nﬁﬁﬁ?mﬁ?w%mﬁéﬁmﬁ
% | TT RS o sy iy TS S M AR (ive) 5t gefen 7
WMWE Eigo

B, WEHHE 2 ufvord s @ ol O AT § 3 A0 3 w3 Tt feet wdifionr
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32-

33.

paper |l

N I
Target Punjab with
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‘ U™H
18 the ratio « tage of | 32
of the “percentag I3 E il
candiq w5 Guds A AR 2
Ates Clearing E, exam in second - - a-,—f‘agsy,fr il
Stage ydtfe 3 ud ESL)
after clearing B, exam in first ~ =
1 o 3 By ©F
Stage” 5 « JEi:ECUMRUES ufodt ;
© “Percentage of candidates . 2 3
cearing g ... . me@mgﬂé'
€ &) exam in second stage after
i o um ags @t
lear; U™H
¢learing E, exam in first stage” ? £y & '
yFtgzsr & 35 foldt 9 2
(a) % : ?'_
3 4 2
(b) % .2
7 3 2
b) —:=
(b) 7T
(c) % : % '
4 3
(d) 3 .1
Tb @ 2.1
75
What is the percentage of candidates |
o 33. €a' Sifeeg o
who are failing in second stage viva ST RIESESy feat 3 &7
exam after clearing E, exam in firt Aew few E, wWitfipoyr UH 3%
stage ? - SRl R few RIET Uty
- (viva) fe5' 3 32 9
(a) 66:7%
(a) 66-79
(b) 75%
(b) 75%
() 25%
() 259
(d) 333%
(D-1g)
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Directions (Q. No, 34 _ 35)

questions are based on the informat.io
diagram given beloy :

A survey was conducted on a sam
cinema artists with reference

proficiency in the skil] of acting, singj
dancing. The results of the survglélyg .
depicted in the given Venn diagram. e

B

Dancing

These
n and

ple of 500
to their

Acting

Singing

34. What is the ratio of the number of
cinema artists who are not proficient

in any of these three skills Xy to-

those who are proficient in al] three

(Xy)?

(@ 5:7
(b) 6:7
() 3:5
(d 1:9

35. If all other data remains same, how
many cinema artists who are not
proficient in any of these three skills
should become proficient in all three,
so that the above said ratio between
number of cine-artists who are not
proficient in any of these three skills
(X,) to those who are proficient in
all three (X;) should now become
Xy X;=1:47

(a) 12

(b) 21

(c) 15

(d) 10

Paper Il

Aol SIS

Target Punjab with
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Fenfedt (4 3. 34-35) fe 47 719

e i | FERuE § A 8

f53 i 22 wai 3 wamfenr fomr |
wrErad!
e )
B 45X
Vel
T ™

34. fr awrars i feg fed fal <F 769
ﬁgmﬁﬁ(%)gwm
7 féat o' oo Toaie I6 (Xy) O 3F
(ratio)at & ?
(@ 5:7
(b) 6:7
() 3:5
d 1:9

35. A9d ot iagr fed Ifder T 3t 348
v awag & 33 Jod feg In®
&5 I5, TEfEs g gmg I e 3t 7
Bug wifaz fAeHT a@aat & far &
759 feu 378 &t 76 (X 3 7 55
9 (X)) feu a9 o6 & I gz
Xy:Xy=1:4 GE AT |
(a) 12
(b) 21
(c) 15
(d 10
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Targ;tnlam' thFll'ght
in dia njab

o on below

Directions (Qo No. 36 - 37) : Based on the informatwn gw(«

booking price scheme :

4
1 2 3
Select a Select a Select number Selc:)ctt{:;zher
destination flight of passengers P
item
; d Re. 2000 per
A A 108.00] Rs. 22500 | A[1]2[3]4 Luggage in * Ad
A[17.00] Rs. 7500|| A[1[2]3]4 hold
Rs. 900
B B [06.00] Rs. 14200|| B[1[2[3]4 # Add
B [21.00| Rs. 9800|| B[1]2]3[4
360
C C [11.00] Rs. 6300|| C[1][2[3]4 « Add Re. 30
c[22.00| rs. 7200|| C[1]2[3]4
D D |08.00| Rs. 8000 D[1]2[3]4
D [16.00| Rs. 10400(| D[1]2]3]4

nger per flight
* These additional costs apply to each passenger per [}

3 36-37) . wﬁmmmwﬁémﬁm?wﬁ?

geEs (YHG
9|
1 2 3 4
Hfes ITER yAea & WABI
a% ge freftge | | feamu ge
A [08.00] Rs. 20600|| A[1]2]3[4 " W . , ) I
A A [1700] Rs, 7500| | A[[2[314 23 2000 quE nrfEey
B [06.00] Rs. 14200 B[1]2]3]4 ‘ . .
B B [21.00] Rs. 9800| | B{1[2]3]4 g W “EF‘**’"OWW
| c [11.00] Rs. 6300 c[1]2]3]4
C CRs. 7200(| C[1]2[3]4 1 ' . N
p [08.00] Rs. 8000|| D[1]2]3]4 3 dT | *360 que g
D b f16-00] Rs. 10400| | D[12[3]4 g e
— Pl 39 nf'(_?,'
\Mj
ﬂ,&aagwmméwmzwﬁzaﬂm?
Paper || (D-20)
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36.
How .much more is the cost of a
morning flight Compared with g,
aﬁel"ﬂm? flight for 5 family of four to
destination B with trave] insurance
and total threg items of hold luggage ?
(@) <9600
(b) = 22,800
(¢) ¥ 4,400
d) 17,600

37. A party of three book to fly on the
afternoon flight to destination C ang
opt for total two items of hold luggage
and the environment offset. How much
is the cost of their trip ?
(a) = 26,650
(b) ¥ 25,600
e = 26,300
(d = 27,600

38. Set M has 42 students and set N has
60 students. At least 12 of the
students in set M are not in set N,
Which of the following cannot be the
possible number of students in set N
that are not in set M ?
(a) 32
(b) 45
(c) 28
(d) 42

Paper Il

Target Punjab with
Siddhi Punjab

36. I9 AE9t ¥ fex ufgerg met, WS B

317.

38.

(D-21)

3 @ o3 opgs ot f
nifEeH &8 w3ar q95 st A9 ©F
el o ThMT & emEie &9
oot TTHI T 3 9

(a) ¥ 9,600

(b)
(© ¥ 4,400

(d)

¥ 22,800
¥ 17,600

s fonradtort 2 mrg 3 © Wivs w8t
Wgﬁm&méﬁﬁ(book)
AT 1 B B AW mee i S
A3 | Byt & ferm wrmar @ vz o
J=dft 7

(a) ¥ 26,650

(b)
() T 26,300
()

T 25,600

¥ 27,600

M RZ &5 42 fefonradt o5 w3 2 N
feg 60 fefenmadt a5 | W we M B
%12%waa°rﬁz“N&-am°rm,
fors fod" S N 2 wifid 3 Barfag
ﬁﬁ”ﬂﬁﬁﬁ‘aﬂa@ﬁﬁﬁ?‘Mﬁg
&t I8 9
(a) 32
(b) 45
(c) 28
(d) 42
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39. When the following shape is folded to
form a cube, which is the only one of

the options from A to D that can be
produced ?

4]

Options from A to D
A B C D

(a)
(b)
(c)
d D

o
A

Q= »

40.
40.- - A contsiner of milk was % full, When

5 bottles of milk were taken out and
3 bottles of milk were poured into it, it

was % full. How many bottles of milk

can the container contain ?
(a) 12
(b) 24
(c) 20
(d 15

41. The cost of mowing a square lawn at 41.
the rate of INR 700 per hectare is
INR 4,375. The cost of putting a fence
around the lawn at the rate of

INR 45-45 per meter would be (in INR)
(a) 10,000
(b) 43,750
(c) 45,450
(d) 25,000
Paper || (D-22)
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39. 7F fous wrere & fa@E fev HF &

yfgesfs3 dr wer 3 37 A3 D 3
Yew fxadt wrums er § AeE! 9 7
°

A 3 D niuRst

SHS0

(a)
(b)
(c)
d D

Q w »>

guwés%mafwﬁm;ﬁ
5 §3%  ¥U ¥ o ot aiehrt
w3 fis 835 T o ur ¥t
7 Y0¥ 3w feo fdehr 2o St
¥3IH U ASSr I8 ¢

(a) 12

(b) 24

() 20

d 15

fea AT gate @ deeEl & s
INR 700 Y=t I%e3 ® fomm &
INR 4,375 3 | S4l9 ® 99 UR @F
BAEE Tt tH3 INR 4545 Y3t e @
forme a7 &t deat (INR feg)

(a) 10,000

(b) 43,750

(c) 45,450

(d) 25,000

Siddhi Punjab

- =, <=
42. ghi(:;l .o’f the
correct ?

(a) 24 x 4>
®) 24< 4>
(c) 24#4<

(@ 24>4%

pirections: (@ |
following  inform
questions using thi

There are five boy
in the first line fac
are five girls, A, B
second line parall
facing to the nort
sitting in such a w
e Ais sitting :
e q who is ju
opposite to ]
e Band r a
each other.
e t is opposi
right of A.

43. Which pair
each other ?
(@) CD anc
(b) AC anc
() CD anc
(d) DB anc

Who is sitti;
(a) B
(b) D
© A
d E

45, Whlch of
diagonally C
@) ¢t
(b) Eq
(c) Ap
(d) Dp

Paper 1]
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42, lf>‘ Eh <=4 Xe=and # = - then
which of the following equations i
correct ?
(@) 24x4>20<2416
(b) 24<d4>242x16
(©) 24#4<20x2>16
(d) 24>4x20<2416

Direci:‘ions:. (Q. No. 43 - 46) : Read the
follo:qmg information and answer the
questions using this information.

tPhere are five boys, p, q, r, s, and t, sitting
In the first line facing south, However, there
are five girls, A, B, C, D, and E, sitting in a
second line parallel to the first line and are
fa.acmg to the north. The boys and girls are
sitting in such a way that

* Adis sitting at one end of the line.

* q who is just next to the left of 8, 18
opposite to E.

B and r are diagonally opposite to
each other.

* t is opposite to C who is just next
right of A.

43. Which pairs are sitting opposite to
each other ?

(a) CDandrt

(b) AC and sp

(¢) CDandts

(d) DB and sp

Who is sitting third to the right of C ?
(a) B
(b) D
(o A
(d E

Which of the following pairs is
diagonally opposite to each other ?

(a) Ct :

(b) Eq

(c) Ap

(d) Dp

456.

Paper |l

I—. dhi Punjab
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unjab with

42. Ttra_a'>=+,<=+,x_-_=y).|%#=_,3"
fegt fed* foaodt feqems (equation)
gla & 1 .

(a) 24x4>20<2#16
(b) 24<4>20#2x16
() 24#4<20x2>16
d) 24>4x20<24#16

gt (yFE & 43 - 46) ; s FOOT 3

Jfemft 16 |

0 &9, p, a1, 8 73 ¢ ufeRl aF9 O

Sz ey 83 95 | Bfaw, R wIet T3,

A, B, C,D »3 E 7 ufgdt 39 T AHE3T

o ATITR fea niz feg 88t T |
e qs? eI, ER U3 T

e B m3 r fex@ gﬂ% T Ifeaess
feusts 05 |

e t,CTfudz 37 fa AT feaen
e g
43. fao3 ¥ few oA @ feudiz 33 95 ¢
(a) CDWM3 rt
(b) ACM3 sp
() CD¥3ts
(d DBM3sp
44, CT AR UA AT de do T 7
(a) B
(b) D
© A
d E
tReefadzas e
(a) Ct
(b) Eq
() Ap
(d Dp

45.

23)
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inte;‘oﬁhd D,

. Han gy ang
Wil ge {), ..
of th:ee the s':‘l;s]r OSitions, then who
Dersoﬁ Qersoll \\lf]hop-ers““ to the right
(@) . ooond g, o oPPosite 1o the
(b) b ght of D 9
(e)

7 R
(d)Q

L ang q and E

No, 45

_PQSSQge ang = 48) .

solve

Read the
the questions

&rat, Ch dan D

inesh Eeshwar
are collsin ’

S. None of them are

ut all of them haye

Same datg The
¥y ars old

Which of the followin
(a)

(b)
(c)
(d)

g is not possible ?
Dinesh js 29 years old

Ferguson is 18 years old
Ferguson is 19 years ol
Ferguson is 20 years old

If Bharat is 17 years old, then which of
the following could be the ages of
Dinesh and Chandan respectively ?

(a) 18 and 19
(b) 19 and 21
(c) 18 and 20
(d) 18 and 21

Paper ||

Target Punjab with
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w3 E
8. g ¢ 3 D’.Pﬁfmt’% 75 7
it ot & .

e
Q m o

(d)

TEETt (s & 47-48) : fori U9 3 47
»@%ﬁ?nﬂuﬁywsz@ﬂa/
SIIHE AME (cousins) T | T fed” ot
< e @9 v ot ¥ uag mfanrt @ FoH
feo &t fea it 3 | o fod A T B
17%@%@%@,%?@,22@
T I | ToUEs §9 forg B 993w
fedm 2 fewaa 3 | wifiz 393 3 o5 3
"3 Ues fedm S Y |
41. gt g’ ot Hzw adt 3 9

() fedm 20 At or

(b) TIIHE 18 A = 3

(©) TIIH5 19 At @ 3

(@) TITHE 20 At @

48. AT I3z

(d)

(D-24)
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")'"“"""’"’ (Q. No. 49) ! Read the /i)/hmlhw
statements and solve the question baned on
these,
A Many ones are threos, A.
B, All twos are fours, B.
C. Afow ones are twos, s
D, All fours are threes, D
E. Al twos are threos, |
03
49. In the four options given below, throe
st.ntl_vmontu are put together in a | 49,
specific order, Choose the option which
indicates a valid argument, that is
when the third statement is a
conclusion drawn from the preceding
two statements,
(a) DEB
(b) ACE
(¢0 CEA
(d) EAC
50.
50. Which of the following statements
follows logically from the statement
“India will talk, only if the terrorists
are handed over” ?
(a) The terrorists are handed over,
hence India will talk.
(b) India will not talk implies that
the terrorists have not been
handed over.
(¢c) India will talk though the
terrorists are not handed over.
(d) India will talk implies the
terrorists are handed over.
Paper Il (0=28]

Target Punjab with
Siddhi Punjab

gt (yiis & 49) s fons d0 T
wi st 3 ol st & 9 Jd

s v & Hdly e |
AT 2] @i 96 |

gy Ao ¢H JE |

yrrd @dil ' 98 |

g 2 adly 75 |

I it g wmumst fdg 36 o808
feig g few #3 ae 75 | BT »uTa

o fsrergn d& o ynfaa et 99 |
(a) DEB

(h) ACE

(¢) CEA

(d). EAC

fést aust fed foroar aas Iafaa qu

fosorser 3 ¢

993 3% & F9ar I Iw I f
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. Ais duflet, SIX sweets are g
o anular ander on g table \Bxf\‘d n
copesite Halwa. There i one Lrﬁ is
neween Laddu and g aleb; é\vw‘
ey AR N Yl
Rassgulia s one of the Sweets \\ wa.
sweet 1 two places away to til\ \‘h‘(‘h
Gulsd jsmun e left of
& Lsddu
Q  Jalehi

=

< - S Selected fron
a.:\:\;“ ‘;er& ons Pavan, Sra

R\\ AEVIN, Aman\ Dh& \’all,
such thst it one

Dhswsn is

R 0Ot selected th,

oher must not be < 0 the
oot sek ; le&d‘ If«‘\m&n N
sslemad?

Bhsven

Psvan

Raghavan

None of the above

0 who

oW

n

is
i, Charan_ Sravan is taller than only
F‘E!'smand'[arunis taller than Kiran. )
Paper iy

(D -

- '.-"Lrs
\ 5
.~ §§ %B
T ' Qo'E
Ieh Ef{ Pt;:'éb)ﬁ
"y R I TR %% 53. Whois the fourth ranker
SNl R & h
\ N \
N ﬁmw f{é‘nﬁ Ry TNt (b) Pavan
ﬁ«larg} ™ fex § - (¢c) Sravan
Wuﬁavméﬁﬁmﬁ?% (d) Tarun
) S
b)) S0
@ IR 54. How many persons :
)
@ NS Pavan ?
52, 1@;% (@), Oe
RN T (b) Two
ST f 0. MHME, Tem nd
o a\y} Has’})’){l‘ &él %‘Ki_ é éTH' “ KC) TIIree
U TS Stoor g 3 2 (d Four
i%)@%&%ﬁaaﬁ@ fx BECH
' TRer oo VT Hier J
W\ln ST 39 3 =t Sfenr 55. There are five rooms
‘ oy S w3 R hall, kitchen, stud;
| S%WH‘ETST \f?a( and dining room. Tk
&gt Sfeng S, TS Sd 3 each room. Wheneve
\ MW?JMWW is on, the study
| ?‘F%HF i = S 8 Whenever the dinin
@ G = the kitchen light i.s
the study room lig
(b) uss light has to be on. T
(0) s the most, can be on
@ Bus s 3t oy @ 5
. b) 4
€E'7fé:~;r(yaa-a°:53_54) T ums 3 © 3
Eﬁmymﬁgm, < @ 2
USS, 73, S95. =
o =0 » 3T i3
R i %_agr%a:ﬁﬁ?? mm?rg 56. ICnajointfamilw
:H & 1 &zt g 5. T > D, E, F an
SR TR RS 3 e v Hhrried couples.
masfzvsarfmaé}%é%agaq—;s the wife of B, A
fafdﬁ'ﬁ?ﬂ%%a‘ . : OfG‘.DiSthe
3| 39 5 f
SN \QH‘ WS we | father of E. F ;
3 naze%aea:rgqfdg' ¥ 3 ¥a "o How is B re
. & Ix T ug (&) Sister
%éﬂrﬁi’mﬁlfﬁfa‘;&f?ﬂm% ®)  Undle
» 39 '\3353‘75537 |
t

26 )
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§3. Whois the fourth ranker ? 53.
@) Charan
(b) Pavan
(¢)  Sravan
(d) Tarun
54.
54 How many persons are taller than
Pavan ? :
(@) One
(b) Two
(¢) Three
5.
(d) Four 5
85. There are five rooms in my house — a
hall, kitchen, study room, bedroom
and dining room. There is one light in
each room. Whenever the kitchen light
is on, the study room light is off.
Whenever the dining room light is on,
the kitchen light is also on. Whenever
the study room light is on, the hall
light has to be on. How many lights, at
the most, can be on simultaneously ?
(a) 5
(b) 4
(e 3
@ 2
56.
56. In a joint family of seven persons A, B,
C, D, E, F and G, there are two
married couples. G is a housewife. C is
the wife of B. A is the granddaughter
of G. D is the father-in-law of C and
father of E. F is A’s brother and B’s
son. How is B related to E ?
(a) Sister
(b) Uncle
(c) Cousin
(d) None of the above
Paper Il (D-27)
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Sgr ¥ famer T
(a) gd6
(b) USH

(c) H=O
(d) 3dZ

@ &=
) ¥

() 35
@ 39

ﬂ%uﬁﬁ%’ﬁﬂ'maﬁ—m’w’
rest gW, 8% oM, srefear oM | 33
m%mmanﬂ?ﬁw
f‘ae'we”"rzmﬁﬁa,ﬂz'ﬁ?”é
e g S T | w2 & sfefda o
& wete mat gt I, IAE & FEL
& mat S T | AE HeS gH & HER
ot g 3 = g & EEe & A
58 gdtet 3 1 fga A famer 3
At I5 7

(a) 5

(b) 4

(e) 3

@ 2

H3 A9 A,B,C,D,E,Fni3 G ¢ fex
Adas ufgeg fég, © EES
I5 | G WIG U3t I | C, B = u3dt
I I AGTIRNIETI | D, CwE
AT IMIET fusTd | F,A®T 397
INMIBTUYITII | BT E 3% ot
forsT I 2

(a) 3=

(b) Wia®
(¢) s

@) Bu3 fe T8t mdt
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57. A bartender stol .
that. containeq g o< ffom bottle A | 67 g ma¥zd 95 A fm {8 50%
replaced what 1)] % alcohol and he W 3, frg e 9" I 3
vodka from bottlee Bhad stf)]en with 5 gafenr e Y gn 4 930 B, fAm
zlcohol. He used g t:ontaming 29% o 9% METT 3, ¢ Zear &7 9B
ottle B, which iq er to replenish S 3 | G0 555 B ¢ 75mATE
bottle A twice as large as ‘ S 2 5
- After the mi; o warg & 3, wdt 56 39 AU
content of hott) mixing, alcohol gt 7 , HE 2 A
What is the g] € A reduced to 30%. ad fz@_%r | fHoee 3 8'”1\?, e
now ? cohol content, of hottle B frg WEHETH T H3T WS d 39% o
(a) 667% ot 3 | ge 835 B feg meade
’ Wz feldt 3 2
(b) 10%
© 13 (a) 667%
33% (b) 10%
(d) 15% (c) 13:33%
58. Ra d 15% R
' 1oczem(g consumption of coal by a | 58. 352 foms oo OB € WS T I
. eedo vg varies as the square of the Je3d g HBWH_\ (square) & Wn
Sgeed 1aSnﬁOlS1 1000 kg/hollr when the m% ;{é‘ g2379 60 7 1{3'1’ wer
the railway comp(;f' 11f5the-cﬁ COSt(Sl Jet T 3t feg 1000 fagnler I | ﬂ'a‘g'
i the  other  SilBes o 5 & dhis Ju2 dwt § 15 DA/EB
expenses  are . ~ ~ s == 0
12 rupees/hour, what ‘becomes the et I i3 Hﬁfa' Jd 23’33\12 §U§/UIZT
total cost with a speed of 30 km/hour ? 1= 3t 30 famieanier € foAd &8
(a) 270 paise/km o ohis fodt Tt 9 2
(b) 165 paise/km @) 270 DR/fodHted
(c) 49-5 paise/km (b) 165 UA/fawHed
(d) None of the above (c) 495 In/fadHes
d) Go= fed aet &t
59. Acompletes%ofaoertajnjobin 59. Afeaénw%ﬁmafeﬁfaagw
6days.Bcancomp1ete%—ofthesame  gger I | B@ﬁé’HET-;—'ﬁTﬂTnTE
jobin8daysandCcancomp1ete%of ng‘égﬁ*aﬁﬂae'%n@cgﬁ
the job in 12 days. All of them work aH & 1 firr 12 fost fev &9 AT
togetherfor4daysandthenAandC 3lﬂﬁwffﬁf?ﬁgaﬂaaéaﬁl
quit.HowlongwﬂlittakeforBto %A@C%"s’ﬁ:@ﬂlegaﬁ
complete the remaining work alone ? E'HE'T a(.va‘ga'ﬁvmrf HAHS IS POl 1
(a) 267da o 4w ] fetat AHT Bdiar ? {
i TR« i\;‘cj (a) 26715 ¢ o]
(b) 333 days L b) 333fe5 o KL g P
(c) 4days g © 4fcs §T‘ *
(d) 467days It @ 467fes X
o s iy
(D-28) ¢
Paper Il 3.,; ] .
. Q 7)(,

You tube: https://youtube.com/@siddhipunjab

Target Punjab with
Siddhi Punjab

Telegram: https://t.me/siddhipunjab01/3L




AE\
%\;;Bﬁé S
g o 99
H3gr ‘83?“51\

v
K %
,[{1' 7
(?
|c,*_é <
R
2P g
a) o '

80. A hook containg 10 ¢

@ 9
(b) 8
(© 6
d 5

61. A ladder reaches a window that is 8 m
above the ground on one side of the
stx:eet. Keeping its foot on the same
ppmt, the ladder is twined to the other
side of' the street to reach a window
12 m high. Find the width of the street
if the ladder is 13 m.
(a) 15:2m
(b) 14 m
(c) 146 m
(d 12m

62. Sanjay writes a letter to his friend,

hapters, g0
chapter hag a diﬂ‘erontlnuml)vlljm;)ll“
PAReS, ranging from 20 to 30. The first
chapter starts on page 1 and oncl{
chapter starts on & new page. What ig
the largest possible  number  of
chapters that can begin on odd page
numbers ?

Kesari. It is known that one out of
10 letters that are posted does not
reach its destination. If Sanjay does
not receive a reply to his letter, then
what is the probability that Kesari did
not receive Sanjay’s letter ? It is
certain that Kesari will definitely
reply to Sanjay’s letter if he receives

it.

60.

61.

62.

fr urEa fea o niltpaprfls ae 1 a9
niftmrfe e 20 4 80 Sy mdan nidt
forasl @ U8 w1 ufer niftmrfde s
S 13 gy der 3o aa nitmef
s S 3 owrdy ger 3 e 4
fimrer S Harfesy faedl 2®
niftor®, nlE (odd) wix @@ A0S 5
Ny I A g8

® 9

b 8

() 6

d b ‘
fear Ut medle @ gy uodl F
8 Mieg QU & fugel Ja atdt D |
Gn fiy 3 Qo Jufemt Gt U §
Fedle @ erd Ui 12 Mg Gl fuad
I udoE et W famrr | Agg U
13 Hieg 3 3t mg & Jarsd &5 |

(@ 162 MHeg
b) 14 Htew
(¢ 14-6 Hieg
d 12

HA wiud fifsg ardt § g9 feer
I 1 feT Uz ¥ fy g few u ot
usgt e few U39 ifgw da adt
UgEET | Aa9 MR § wmud U39 e
Aed &t fumer 3t fom & Haresr
(probability) st & f& awdt 3 Ha e

Usy &t/ fiufenr ¢ feo forfos 3

for ot St wge #Y § @39 féer Ao
8r 3 U3 yuz § e |
(a) 10 '
19
9
(b) 0
1
(¢) E
9
(d) 100
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63!

In Ak,

“Nrolleg "“ total of 180 studonts nre
Dmm."m' ‘u“‘ I'nrulun Inngungen
Meraq ar e foroign  langungon
Chingyg * Pronch, Gorman and

ang
m‘““)’ingo I tho numbor of poople
,l]c "
ang ' Of theng subjoctn ara 80,
"e8poctivoly, 1
Vo \ '
of Studen g ly. The numbor

w ‘
Ofthc u‘ren ho 8tudy more than one

8ubjocts,

Study )
languagog 9

How many

throo  foroign

64. Three alarm clocks ring their alarms
at regular intervals of 20, 21 and T
minutes respectively, If the clocks
beep together at 12 noon, for which
value of T would they beop togother
again at the carliest ?

(n) 8 minutes

(b) 18 minutes

(¢c) 28 minutes

(d) 38 minutos
paper ||
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4, g s Do fenft et @ A

(e 10 (el sng, g
il aopt o ey 9 gatfinl,
TR UL 4
s i oot ) (gl o
80, 00 Wi 100 3 1 Pt faf fyre
du (e s @iy (efoainf il
oty Gt (kefemprgiing i o 140
feiy gy o Bo% fimper D l‘r%{,
) o (40 fraf) gyt i

et

(n) 1H
(h) 24
(¢) 46

(d) 42

64, o nwon e g feafs wug

20, 21 w3 T et 3 nuE nergy
@ on 1 N e 12w el
feretfisntt nmr R e st W fam
Yoy w e feetfent wudl 3
NI e |

) 8
(h) 18 Ofe
(¢) 28fie

(d) 98 MHe
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A person of 6 {4, height wants to pluck
a fruit which s hanging st L ih
distance from the top of a 20 ft, high
The

distance of 28 ft. from the trec throwy

tree, person  standing  af 4
a stone, which hits the top of the tree,
The man moves towards the tree and
throws another stone again at the
same angle, this time hitting the fruit,
Assuming the stones travelled in a
straight line from the hand till the
target, what is the current distance of

the person from the tree ?
(a) 2111

(h) 181t

(¢c) 151t

(d) 91t

The cost of 10 pears, 8 guavas and
6 mangoes in 7 44, 1f the cost of each
of the fruits, in rupees, is a natural
number and cost of no two fruits is the
same, find the cost of 4 mangoes and
4 guavas,

"/,,
(a) 717

(h)y » 18
(¢) 714

(d) Cannot be determined

65,
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ap

::J

(a) 212z
(h) 1822
() 1522
(d) 92z

10 BHUSA, 8 mHge w3 6 wia &t
dHZ 7 44 3 | T3 T9 25 & FHz
§Ui’ feg fog ged3r nig (natural
number) 3 w3 fan ¥ 2t & iz
fea fadt &t 3 31 4 wimw w3
3 niHget &t dH3 TR |

(a) 7 17
(b) % 18
(¢) % 14
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Questions ro. 75 g Passqe
. TYO 0 T SR Aand armarian a2
\\‘hat 1S \1‘ . 2 (\\ O“[) .. Q \:?1\\.t!f :c(\
. S 0ur ideg o 0w
Caste 18 3 U

S a e SOciety i

Questioy at i dyou go not want

ask ~ dund to he asked

e. e SISKE

il . oy I-Jbrelﬂlr‘t\ ldeal would be a
Fra Thity, d - uality ¢

Can there he to Why not it ottsexta'“d

. S jection

o AR deal gogian - L cannot i gine

there shoulg be oelet“_ should pe mobill\e..‘

Y Interegt &
ﬁ R Tests Consaounsly
not merely 5 29 shareg s

a fo mocracy 1
Primanly 5 M of GO“ernment It is

conjoint mmmumcgfeda:\ﬁociated living, of
ially an  atty SXPerience. It is
Teverence tO“‘ard: £ ﬁude of respect
to Libert_v ? Few ObjEit C;an\en_ AI}.“ objection
of a right to © liberty in the sense
right to life angm‘:ement* In the sense of &
1 eﬁthmbl\)‘ \\h}: not allow
competent use of g pémoa;l‘« eﬁe-cnt'eq and
supporters of caste who o powers ~ The
R
property, would not readily Sconsentmig
l}berty 1n this sense, inasmueh as it involves
llb_el'ty to choose one’s profession. But to
object to this kind of liberty is to perpetuate
slavery. For slavery does not merely mean a
legalized form of subjection.... It is found
where, as in the Caste System, some
persons are compelled to carry on certain
prescribed callings which are not of their
choice. Any objection to Equality ? This has
obviously been the most contentious part of
the slogan of the French Revolution....
Equality may be a fiction but nonethelfess
one must accept it as the governing
principle. A man’s power is dependent upon
(1) physical heredity, (2) social mhg;rlltance
or endowment in the form of parenta C;}_‘?~
education, accmnu.latnm-) of scient tC
knowledge, everythin ﬁ whn:}l: ex:\Sazil:}ae;e hm;ng
be more efficient chan " 1 all,these
on his own efforts. In '

tﬁlilril;y’ S})spects men_ ax-'e un{i oubti(eii)t
al. But the question 1s, shall we B
unequ -unequal because they are unequal:
t:}:lenlltafnay be desirable to give as much
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eentive as possible to the full development
of everyones powers. But what would
happen if men were treated nnequally as
they are. in the first two respects Tl Itas
tjb\'ious that those individuals also in whose
favour there is birth, education, family
Dame, business connections and inherited
wealth would be selected in the race. But
selection under such circumstances would
not be a selection of the able. 1t would be the
selection of the privileged.... On the other
hand it can be urged that if it is good for the
Soctal body to get the most out of its
members, it can get most out of them only
by making them equal as far as possible at
the very start of the

race. That is one reason
why w

€ cannot escape equality. But there is

another reason why we must accept
equality. A Statesman 18 concerned with
Vast numbers of people.... The Statesman,
therefore, must ... treat all men alike not
because they are alikke but because

classification and assortment is impossible,

The doctrine of equality is glaringly

fallacious but taking all in all it is the only

way a Statesman can proceed in politics
which is a severely practical affair and
which demands a severely practical test.

75. Which of the following is NOT a
reason that the writer gives
desiring equality in a democracy ?
(@) It makes people equal as far as

possible at the very start of the

race.

It ensures that the preexisting

social equations continue.

(¢) Statesmen deal with large

numbers of people who are too

vast to classify and assort.

Statesmen require a practical

plan of action to proceed in

politics. .

76. According to the writer, supporters of
caste would object to liberty in the
sense of
(a) right to free movement
(b) right to choose one's profession
(¢) right to life and limb
(d) right to property

for

(b)

(d)

(D-34)
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77. What are the three aspects in which
men

‘undoubtedly unequal,’

heredity;  Parental

Property; His own education

rhysica) appearance, Parental
in

heritance; His own enthusiasm

}Ysical strength; Social status;
1S own Spirituality
! hysica] heredity;
mheritance; His own efforts

If selection is done on the basis of
blrt_h, education, family name,

usiness Connections and inherited
wealth, then it would be

(@) selection of the privileged
(b) selection of the able

(c) selection of the meritorious
(d) selection of the fortunate

Read the

(d)

Social
8.

following passage and answer
Question Numbers 79 and 80 with reference
to the bassage by choosing the most
appropriate option, :

eminism at its core is about equality of
men and women, not ‘sameness’. So many
people offer up the argument that women
are not the ‘same’ g5 men and therefore
there can’t

be equality. In other words,
because their bodies are different (many say
weaker or ‘feminine’), and

because men and
women have different physical capabilities,
these physical differences mean equality is
not possible. If there were two young boys in
a classroom, and one was physically weaker
and smaller than the other, would we
believe it’s right to keep the weaker, smaller
boy from having the same access to the
teacher, to learning, to the computers, to the
books and class reso

urces, to other children
in the class — because he didn’t have the
same f)hysical strength as the other boy? It

is critical to understand that “same” does
not mean “equal.” The issue here is about
equal rights and equal access  to
opportunities. Men and women don’t have to
be the “same” physically in order to have the
right to equality. Feminism as an 1d_eology
has always been highly controversial. It
asks such questions as: do women have too
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. . ly
r too little power?_ _It is not on
f:rcl)lrll(t:?ov(;rsial as far as traditional defegdtre:l':
of the status quo are concprned. 0 :
women feel that they are in favoul.'do
equality with men, but do pot like thg idea
of feminism. It has been said that we live in
a post-feminist age and some contend that
the main goals of fenpmsm have been
realized, so that it is quite unnecessary for
feminists to continqe _thelr argument
against male domlnathn. ~ Feminism,
however, is also controversial in thg sense
that different feminists mean different
things by the term. There are different
varieties that seem to have little In common.
Just as writers have spoken of socialism, so
feminism has also been presented in the

plural in order to indicate the diversity
involved.

79. “Men and women don’t have to be the
“same” physically in order to have the
- right to equality.” Why ?
(a) Because the theory of feminism
promotes that men and women
are no longer in a classroom and
can have equal access to learning,
books and class resources. :
Because the theory of feminism
promotes that both men and
Wwomen are anatomically same
and therefore Possess  equal
mechanical strength.
Because the theory of feminism
promotes that men may or may
not be feminists byt they believe
in equal classroom learning.
Because the th

eory of feminism
promotes that being “same”

(b)

(c)

@

cannot be equated with being
“equal.”
80. “It is critical to understand that

“same” does not mean “equal.”

What does this statement imply ?

(a) men and women are “same”
but never “equal”.

(b) Only men and women wh, are
feminist cap be “same” and
Sometimes “equal”.

(c) .0 Man or woman cap either be
Same” or “equal”.

(d) €n and women are not “same”
but can he “equal”, -

35)
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